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cherenkov telescope array

Tim’s Caen Kit
...everything works apart from the digitiser

File  Vertical Timebase Trigger Display Cursors Measure Math Analysis Utilities Help Zoom U.“g"

1 x1 mm SiPM

i
Measure P1:width(C2) P2:ampl(C2) P3:width(F1)
value 48431 ns 126.39 mV 13ns
status R4 4 R

C4 | DCR0 Tbase -10.8 nsfTrigger EJLSIN|

100 mV/diy 1.00 Vidiv 20.0 ns/div Auto  -580 mV

159.50 mV! 29950 V| 4008 2 GS/s |[Edge Positive
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Initial Attempts
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Measure P1:width(C2) P2:ampl(C2) P3:width(F1) P4:- - - P5:--- P6:- - - P7--- P8:---
value 15.254 ns 127.56 mV 1.1ns

status R v R

[ DLSU]
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Initial Attempts

16 ch SiPM tile SPE
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Measure P1:width(C2) P2:ampl(C2) P3:width(F1) P4:--- P5:- -- P6:- - - P7:---- P8:- - -
value 49.461 ns 11.92 mV 44ns
status R v R
c2 | C4 (DC50] Thase  -10.8 nsffTrigger (EEJLEI8
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Test Setup
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Test Setup

Bias Circuit
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Test Setup
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Test Setup

Bias Circuit
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Multiple PE

Average Waveforms
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SPE

Average Waveforms
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Average Waveforms
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Gain (x10°)
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Rate (Hz)
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DCR, , (MHz)

‘ cherenkov telescope array

_lll‘lll‘III‘III’III’III‘IIl‘lll’lll’lll‘L

"III|III|III|III|I|I|III|III|III|III|III|T




‘ cherenkov telescope array

10° carriers in an avalanche breakdown emit on average 3

photons with an energy higher than 1.14 eV.
A. Lacaita et al, IEEE TED (1993)

When these photons travel to a neighbouring cell they can
trigger a breakdown there.
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Rate (Hz)
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Automate V, steps

Temperature ramps

New bias circuit

Combine 4 pixels to form 6 x 6 mm pixel

Shaping circuit
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